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Architecture Diagram
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Class Diagram

SubwayTrain

+trainSituation: int
+trainMum: int

+subwayMName: String

Subway
+name: String
+route: String
+num: int
+routeMum: int
+resld: int
+seat: Seat
Room
+color: int
+AddeoloredSeat(): void

Sever

+dbManager: DBEManager

+SubwayTrains: Subway

+SubwayAPIManager: SubwayAPIManager

+logln(JSOM account): void

+checkldDuplicates(Sting |D): boolean
+addPoint(JSOMN account): woid
+subtractPoints(String account): void
+checkPoints(String account): boolean
+registerFavorites{String favorites): void

+getRegisteredSeats()

+createMNewAccount(String account): woid

+addSeatToSubwayTrain(String seatinfo): void

DEManager

SubwayAPIManager

+getSubwaylLocationinfo(): JSOMN

Client

+myAccount: Account

+isRelookable: boolean

+subwayStations: SubwayStations

+subway: subway

+SeverConnectManager: ServerConnectManager

+searchEndStation(): void
+checklsRegisterable(): boolean
+registerMyseat(): void
+selectSeats(): void

+logOut(): woid
+searchStation(): void

Eai

Account

+addPoints({string 1D): void
+subtractPoints(string 1D): void
+checkPoints(string 1D): boolean
+getPoints(string 1D): void
+checklDDuplicates(string ID): boolean
+registerFavorites(string favorites): woid
+createMewAccount(Account account): wvoid
+longin(Account account): void

Seat

+seatMo: int

+seatloc: int

+destination: SubwayStations
+roomMuber: int
+registeredlD: String

+1D: string

+Point: int

+Password: string

+favorites: string

ListenThread

+run()

LoginThread

+Client LHE 22 = send Thread
+run()
+Server LHE 28| = ListenThread

rund \ / zrund
SendThread

+run()




App(Sever)
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Sequence Diagram




t)

App(Sever)

return checkResult

App(Client)

»
»

)
2. checkAccountinfo()
return checkResult

Sequnce Diagram
2. 219




Sequnce Diagram

3. 2102

User

App(Client)

1. onPressLogOut()

return checkResult

.
L




Sequnce Diagram

4. R|oPA Ktz My

\ App(Client)

App(Sever) Subway API

User

1. onPressSubwaySelect()

return SubwaylList

3. onPressSubwayConfirm()

6. subWaySelectionScreen

return
subWayTrainSelected

2. makeSubwayList()

4. getSubwaylocation
(JSON sublinfo)

5. getSubwaylocation
(JSON subinfo)

7. onPressSubwayTrain()[~

return SubwayLocation
(JSON sublnfo)




Sequnce Diagram

5.

Xt

rx
12

Q App(Client)

App(Sever)

1. selectSeat()

return result

3. searchStation()

return result

5. selectStation()

return result

'
—_—

T 2. checklsRegistera

4, getStations()

6.setSelectedseat()

return result

ble()

7 addSeatTosubwayTrain()

B —

8. addPoints()

-




6. SHAHY
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Sequnce Diagram

Subway AP

App(Client) App(Sever)
User
1. lookUp()
eturn SubwayLi ] 2. checklsReLookable()

3. checkPoints(JSON account)

return result return checkResult

5. lookUpSeats
(JSON subwaylnfo,

4. confirmLookUp() -] JSON account)

return seatslnfo

<

10. colorSeats()

—

:| 6. subtractPoints()

‘ 7. getRegisteredSeats{}%

8. getSubwayLocationinfo()

N,

return
subwayLocationInfo()

9. calculateDistance()

<




816 6 @

Project1

, { 734 3827 %t 417t
= == 0
HE MU= 2

2

Vi
T
816 @ @
814 @ @ Gy .
_ Mz xsm2E5M Project1 AR RN RN
Project1 9 ME WFE —me e
- . Seoul Subway Line 2 < 7§+_-I 3827%*"
[T a
cl) @ ug
EERE |
@ erar
(2) 2t
816 @ @
. i Project1
@ B
@ ME
@)
il o vl @ A
& £F S 2 qb«;f» - O
N
Q







S
o™
[a)
~
o
o
S
m i, K=
o <d Q_OO
T 1o u_AI.__A.lo
z W R
o 8 L_L
oE ao
m = T ==
¥ ¥ =
— !
2 Wy
K W
() i
— _u/.__Ao
ar
K
rd
0
Kr
od
519 g 2
&.__.._IMMH_Q_.
r ol < [
Kio o - D
0 T2 %0
=3
S
ol _._.o
< 2150
SR
Sxud
=S
ol

olo

A
e

b

52018

H

27910] 5|0f 9

oA 20t

"hbk21", "1234"

1.

2. 239 Zut &

23¢9l

m 2

=13
=

7|s& 0|83t

0l

o
-
A

OH

=

Z0t2

of xpilo] MESE X|SHE Ko FE It
Moz &,

Broin

f

21

z0_.
z0ol
o
o *
& 1o OF
Al
opH
10F fofr <O
T 5
Rl w_u B\l
i
[TV

= .m0
E

ol

W 55
WSl pr
B Hl ol
wRo o
K{ ol w| ._._..m_
2 o o o
RT 1 o]
7 8 op K
Hr o7 ™

o

%0
_l_l
H
ljo
B0 .
o &
Lo
ollpy Mo
T o] od
M Wl
— i
o 1 %
xr = <
K— ~
g Ul
o3ar O
DT
[
oK
o
<l
=3
od
od NHr ﬂ_.
1o UI0 z1

=r muw_.mu
7 Hlgoxo
IRy
3

%7 Nl m KU
.___w_._%%%
o¥R0TK P Lo
sTarssi
55 i T gr
1[0z KT —
..Vmwom N

1. AHEX
2.
__I.I.
EH
E

kT Lo

o=

\¢
Bl

PR

.
o

ol
H
H K
ol R
o K B
2 o
o . Kl
3T oo Hy
o3 < _
2 Ol BEg
R
S WY o
5 8 o ¢
> Us oW
Ir ulo
m._m_ K1 =5
= W oo
THr g
ulo =
<
K
od
wr
7o
_|I-I
wa
—
Ko
22
=rodal _H__H_ o
nEe 0
o8 Olz oju
Wi & THr
mrrm U o
r<m — <r
Fad T
WK E e Iy
Wrerk =2 ol
I8 o= 4r
Uow =¥ TIR(s 3.
uo g,
RN o
K —
B
<ar
K
{0
5
K > —
(@] ©
_ |9)
>3 .Ma <
= 4
T i
K1
© o e

foil




Pass/Fail Criteria
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